BREE R EEFMETIC & 2 M

WEFRRHEIE (%)
SEE 100.0
JuimE 93.4
=25 84.0
E=F 86.8
=i 97.0
fk A 86.6
WL 89.4
25 93.3
B3 100.8
WA 99.3
HE 98.3
%% 106.2
T 105.9
HiR 114.3
) 109.5
3N 94.4
= 97.4
Al 97.5
B 97.7
g 98.8
R 97.8
I & 100.5
Ffi 100.3
4 105.3
== 98.9
B 98.9
R 101.5
KB 108.3
s 102.1
=g 101.9
AR 93.9
SER 89.2
EiR 87.7
e 1L 96.0
N 97.3
LA 91.5
= 91.2
H 95.6
TiE 90.7
=40 88.7
1B 94.2
ik 87.0
R 85.3
REA 88.6
K4 89.9
=g 85.3
IR 87.3
A 86.1

X SMTEELSAMIEEICNO—T7—2 TREBL-EHH
DINZALDOKRAICHRZRKAEER (BfF) O LREE TRED
FREMEDFIIDEEE% 100 & LT, BEADEOBRLLDE
W& BRZE L TIREUL




B E AT IC & 2 B
NA—T =7 IR (%)

EEF 100.0
Bl =] 93.4
0101 #LMRET 99.8
0102 EEEET 88.9
0103 f8JI15t 89.6
0104 &ILET 95.1
0105 4t R 5t 89.2
0106 #AIET 89.1
0107 /M&&t 86.4
0108 J&)I15t 88.4
0109 &5t 88.7
0110 =5t 92.6
0111 = RIREt 89.2
0112 HEANET 89.7
0113 =AET 93.6
0114 BBH55t 87.8
0115 & &5t 91.3
0116 JEiAl5tH 92.5
0118 #EFT 89.4
0119 EH/VEt 93.9
0120 HR=E&H 90.0
0123 #LMREET 93.7
0124 #L1RAL&Et 95.3
0125 Fmat 92.5
CES 84.0
0201 5%z 84.5
0202 \F&t 85.8
0203 aARTET 81.7
0204 L&t 84.0
0205 Pt 85.8
0206 HFr)IIRET 78.5
0208 =Rt 85.0
0209 £F5t 80.3
=F 86.8
0301 E&RFT 87.8
0302 £HA5t 82.7
0303 =HEr 83.3
0304 155t 87.1
0305 —EB85t 88.4
0306 7#RET 86.3
0307 db E&T 89.1
0308 KfnEat 87.1




Na =7 =7 FIEER (%)

0309 ==zt 82.5
0310 A=t 83.2
=95 97.0
0401 L& &t 101.0
0402 F#%5t 91.0
0403 a5t 93.2
0404 )11t 89.6
0405 FSAIEEt 88.9
0406 B 88.7
0407 i8=t 87.6
0408 SliBEt 87.2
s 86.6
0501 FkEEF 89.6
0502 Eftst 86.6
0503 AfE:t 83.3
0504 AghEt 85.8
0505 AJEEt 87.2
0506 #F 5t 83.3
0507 $%REt 82.7
0508 st 82.9
i 89.4
0601 LFat 90.9
0602 3Rzt 88.9
0603 SEME! 88.8
0604 #BfA 5t 88.6
0605 FEEt 87.6
0606 £H5t 86.4
0607 A 1LiEt 90.3
0608 AT Et 89.5
BB 93.3
0701 @&t 89.6
0702 LWh =5t 94.7
0703 £&EEMET 86.9
0704 EBLLEt 97.6
0705 M3AE 90.1
0706 7ZA%)1I5t 89.7
0708 A=t 91.6
0712 8t 97.9
515 100.8
0801 k==t 98.7
0802 Hairzt 97.8
0803 5ist 97.7
0804 L35t 101.8
0805 &iast 108.4




Na =7 =7 FIEER (%)

0806 FHEat 102.1
0808 A5t 97.9
0809 #BEX= 5T 94.3
0810 &7 &t 103.4
0811 &E#GtH 90.7
0812 EREfEISET 100.5
AR 99.3
0901 F# =&t 100.2
0902 e85t 103.0
0903 #HAGT 97.8
0904 =85t 96.6
0905 E# &t 97.6
0906 E A5t 96.5
0907 &Gt 97.7
0908 KH/R&t 97.0
0909 /\iLiEt 101.2
0911 BJe&t 97.6
0912 EBEET 96.3
i3] 98.3
1001 RUHEET 95.1
1002 S iE&Et 101.4
1003 fR 45t 92.6
1004 FEAIRET 100.9
1005 KHzET 99.9
1006 EEMGET 99.1
1007 ;BHET 96.7
1008 Bt 55 = st 98.1
1009 REREIET 95.8
1010 #=J1Et 96.9
AE 106.2
1101 JIIE&t 108.5
1102 RE&&t 101.0
1103 K=&t 108.1
1104 JI#kET 105.4
1105 JE#0&Et 108.4
1106 FrRET 105.6
1107 B &t 96.4
1108 & H#RET 104.1
1109 4THEt 100.7
1110 &=t 108.5
1111 #AEEET 107.2
1112 HAEt 107.0
TIE 105.9
1201 F &t 107.0
1202 )15t 109.1




Na =7 =7 FIEER (%)

1203 gkF &t 98.7
1204 g81LET 97.4
1205 REEET 105.5
1206 t&/RET 100.5
1207 XJR&t 102.7
1208 Mt 107.3
1209 fintE&t 108.8
1210 pkHEt 105.7
1211 FEmst 104.8
S 114.3
1301 skABET 115.2
1303 %5+ 113.4
1304 mJllEt 114.4
1306 K#Rat 110.7
1307 &3 113.6
1308 #r7Est 116.7
1309 jthEeEt 114.1
1310 £F&t 111.7
1311 B3z&t 112.4
1312 &H&t 112.8
1313 KI5t 111.1
1314 NEFET 107.6
1315 37)II&t 108.5
1316 &EiBat 108.9
1317 =J&&t 118.8
1319 HTHET 108.7
1320 fFH &t 108.7
il 109.5
1401 femEst 111.9
1403 FIxEt 107.3
1404 )15t 110.1
1405 7R &EET 105.9
1406 FIxET 106.5
1407 /NHIRET 103.0
1408 BERET 107.6
1409 HEIRRET 111.4
1410 EAGEt 106.6
1411 MGt 104.8
1412 K EmET 108.0
1414 )b Et 109.5
1415 ABAbaEt 111.2
1416 KF&t 107.4
SN 94.4
1501 #RsEt 97.9
1502 K&t 94.3
1503 Lt 94.1




Na =7 =7 FIEER (%)

1504 =&t 94.3
1505 AlEEt 94.2
1506 #rFEHET 94.3
1507 #rEEt 93.2
1508 +HHETET 86.5
1510 &&JIIET 93.8
1511 &5t 92.8
1512 msAsEt 92.7
1513 tiEsEt 85.2
1514 A+ E&F 89.0
= 1 97.4
1601 & L&t 98.6
1602 = [ Et 96.9
1604 fiEaEt 96.3
1605 #p R Et 95.9
1606 XK B &t 94.0
1607 j&8)115t 96.3
alll 97.5
1701 & RET 99.3
1702 /NAET 95.0
1703 CE&t 93.3
1705 MNEEt 96.7
1708 B 1LET 100.3
1709 &5t 86.8
2 97.7
1801 fa#t&t 97.9
1802 H A&t 97.9
1803 KEr&t 89.3
1804 =EFH&t 101.1
1805 & &t 98.7
1806 /J\EET 971.7
IS 98.8
1901 /et 98.3
1903 /L&t 98.3
1904 ZElEEt 98.8
1905 #ORET 99.9
1907 E L EHATET 100.7
=& 97.8
2001 KEFET 98.9
2002 #AET 97.6
2004 EHET 98.0
2005 BRHET 96.2
2006 FHBET 100.3
2007 &/ FH5t 98.5




Na =7 =7 FIEER (%)

2008 &R ILET 96.0
2010 KEREFT 94.8
2011 tEAET 97.0
2012 KHTET 96.1
2013 7A3RET 95.3
2014 FEaEt 97.8
Iz B2 100.5
2101 I B &t 101.4
2102 KIEET 99.3
2103 Zn REt 101.8
2104 = lEt 99.0
2105 =HBET 98.3
2106 BI&Et 98.6
2107 =RMNXET 99.8
2109 #2)115H 97.0
F 100.3
2201 B ET 100.2
2202 JEAAET 102.1
2203 ;AEET 101.6
2204 7BKET 100.0
2205 = &5t 101.2
2206 #1115t 99.1
2207 B+ =5 96.9
2208 SHET 97.9
2209 Z&HET 99.5
2210 E+L&t 98.5
2211 THET 98.9
2212 BEiRE 98.4
A 105.3
2301 B ERET 107.3
2302 B ERE 107.1
2303 £ HERET 105.0
2304 15T 107.2
2305 [EIEET 103.2
2306 —= 5T 102.9
2307 #HET 102.3
2308 MFET 102.2
2309 SHEt 103.0
2310 2 &5t 102.7
2311 X&E 103.7
2312 FEET 101.7
2313 R1LEt 102.0
2314 2)1I5t 100.4
2315 FripET 95.2
2317 HH#HET 106.8




Na =7 =7 FIEER (%)

=5 98.9
2401 MB™ET 102.7
2402 REAET 96.8
2403 J#&5t 95.6
2404 ABRET 971.7
2405 45T 101.3
2406 REET 99.8
2408 EEET 92.1
2409 $nfEET 99.4
WHE 98.9
2501 RiZEt 98.6
2502 fREET 96.5
2503 E1RET 98.3
2504 BHETET 98.8
2505 FREET 97.5
2506 & FEET 100.6
B 101.5
2601 REFFEET 100.4
2602 RELL AT 103.1
2603 R R 5t 101.8
2604 REHDET 105.7
2605 fEA0 LT 98.4
2606 FFESET 98.9
2607 I& L5t 93.4
2608 Fa%F 102.9
KBR 108.3
2701 KBRrERET 108.6
2702 #BEET 110.0
2703 RERFEET 109.9
2704 Ff=EFET 103.8
2706 &Gt 107.3
2707 st 109.7
2708 #R&ET 105.7
2709 FANMAET 102.8
2710 tHET 104.9
2711 RARZET 104.3
2712 BHFET 108.8
2713 #2775t 105.5
2714 RIEEFT 100.8
2715 ZRANET 108.9
2716 FINKE T 103.5
2718 PFIEET 106.7
=B 102.1
2801 = ET 103.2
2802 #Et 105.4




Na =7 =7 FIEER (%)

2803 felast 106.1
2804 A= ET 105.6
2805 fRE8ET 100.9
2806 hnd)IIET 100.9
2807 5t 104.6
2808 BHAET 101.8
2809 5T 95.9
2810 Fafmat 98.4
2811 JMAFT 95.7
2813 taRET 99.8
2820 FafRET 100.5
2821 BEBFET 99.4
= 101.9
2901 REET 104.4
2902 K= MHEET 101.6
2903 tHEt 98.0
2904 TiEt 97.3
2905 RABRLLET 100.6
AR L 93.9
3001 #0ERLET 96.1
3002 #r=at 92.5
3003 HiZET 91.3
3004 #0455t 88.8
3005 ;&% &t 93.1
3006 BRIET 91.6
3007 #&AET 89.6
BER 89.2
3101 BHXET 88.9
3102 KF&t 89.4
3103 255 89.2
SR 81.7
3201 #0IET 88.1
3202 EHET 86.5
3203 HEF 89.1
3204 #HET 87.8
3205 EmFET 85.7
3206 A R AKHEt 84.9
g 1L 96.0
3301 [ LT 98.8
3302 ;E1LET 91.6
3303 BB REt 96.6
3304 EEET 92.1
3306 MxiET 94.2
3307 m#Et 90.9




Na =7 =7 FIEER (%)

3308 [ ET 92.8
3311 ARSF&ET 97.2
IN= 97.3
3401 K &5t 100.5
3402 [k BPasEt 96.0
3403 R&f 93.4
3404 E&5Et 91.7
3405 @1l &t 97.4
3406 ==&t 92.1
3407 =Rt 93.0
3408 AJERET 97.3
3411 fFHRET 91.1
3414 K &HET 98.5
3415 HH™EF 93.1
inm 91.5
3501 ILhAET 92.6
3502 TEAET 90.4
3503 FERET 91.0
3505 BIATET 91.0
3506 #Et 90.0
3507 f&EILET 91.2
3508 THRET 91.8
3509 mEGT 93.0
3510 #MFHET 91.1
"5 91.2
3601 ES&T 92.3
3603 =4F&T 88.9
3604 E=&K5T 88.6
3605 BRI ET 89.4
3606 HE /I 87.2
3607 B5PIET 90.8
Sl 95.6
3701 @ET 96.6
3702 M &t 94.9
3703 I ET 96.5
3704 B E 5 93.4
3705 T M EET 94.1
3706 LT 89.4
2% 90.7
3801 A1 LET 91.7
3802 5753 89.6
3803 /\f&EE&t 83.4
3804 FHISET 85.2
3805 # /= Eat 90.5




Na =7 =7 FIEER (%)

3806 FLEt 90.5
3807 PUE Rt 96.4
3808 A5t 85.2
S41 88.7
3901 Szt 90.1
3902 /it 85.3
3903 A +5t 83.4
3904 %233 86.4
3905 L\ E 86.1
iy 94.2
4001 7@ gEt 100.0
4002 ERIRET 89.7
4003 KZEHET 87.7
4004 /\iEst 92.8
4005 ABBHKET 91.2
4006 /A=t 93.9
4008 B &t 93.2
4009 /115t 89.0
4010 17485t 89.4
4012 fEfE s st 100.0
4014 \% &t 86.2
4015 At 87.8
4018 @Mt 94.7
4019 BT 93.1
k5 87.0
4101 £ 5t 88.3
4102 fEEst 86.0
4103 st 85.7
4104 B 84.2
4105 Bzt 89.4
4106 &t 82.8
£ 85.3
4201 gt 87.9
4202 ARG 85.4
4203 St 84.4
4204 K5t 84.1
4205 BEst 79.7
4206 ST5M5t 81.1
4207 LB 81.9
4208 35 &t 81.0
¥ 88.6
4301 HEA T 91.6
4302 "\t 87.7
4303 gt 87.0




ANO—7— 2 JUHBEERE (1)
4304 E45t 86.2
4306 KE:t 82.2
4307 BREESH 81.1
4308 FHist 88.9
4309 FgFEt 83.6
4310 K{REt 81.0
) 89.9
4401 K5 et 92.1
4402 BIfFEt 86.4
4403 FiEEt 87.9
4404 HHEE 89.7
4406 £ {BET 89.2
4407 FEEt 85.5
4408 B AFFEt 84.8
=i 85.3
4501 st 87.4
4502 FEFEEH 83.4
4503 Hrast 85.6
4504 #BHiEt 85.1
4505 HEgat 79.5
4506 &iAEt 83.5
4507 /iREt 82.5
BR 87.3
4601 2R &5t 90.2
4602 JIIMEt 85.2
4603 EEEEt 83.8
4604 E 5 Et 87.9
4605 ANt EET 83.1
4606 FERTET 84.5
4608 AFBEt 83.2
4609 HiZkEt 83.6
4611 % st 83.8
4612 18785t 87.6
R 86.1
4701 FRFE=t 87.1
4702 HHEET 85.0
4703 4343 83.0
4704 =Et 85.9
4705 \E L5t 84.2
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